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Exercise Key-Perfect Form of Tense 
 

1) They have seen that movie. 

Neg: They have not seen that movie. 

Que: Have they seen that movie? 

2) She will have found a new job. 

Neg: She will not have found a new job. 

Que: Will she have found a new job? 

3) They will have booked their tickets. 

Neg: They will not have booked their tickets. 

Que: Will they have booked their tickets? 

4) It will have been a successful venture. 

Neg: It will not have been a successful venture. 

Que: Will it have been a successful venture? 

5) We will have celebrated the anniversary. 

Neg: We will not have celebrated the anniversary. 

Que: Will we have celebrated the anniversary? 
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